NATIONAL | UNIT 3 MATHS
QUALIFICATIONS EXERCISE 1 ADVANCED HIGHER
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Find the unit vectors which are perpendicular to both of the vectors u = j+ 4k and
v =3i+2]j+4k.

Find the equation of the line determined by the points A (1,9,5) and B (3,5,7) in:
(i) vector form

(i) parametric form

(iiiy  symmetric form

Find also where the line intersects the x,y plane.

(i) gbtain the equation of the plane TT determined by the points A (1,2,-2), B (3,3,-3) and
(2,4,-1).

(i) - I Listheline X1 y;z - 2‘3‘2

line L' through A, lying in the plane I and perpendicular to L.

through A, find, in parametric form, the equation of the

Find the point where the line X +24 L 51 _Z ; 0 intersects the plane 2x+2y -~z = 5.

A line L is the intersection of the two planes,
Mix+y+z=1 I,:x-2y+3z =2

Find the equation of the plane containing L and passing through the origin.



